SN2 EEAHRAKEEKERNEHER

1 AHRAKE
(1) ANOBRORECHET HRIFEEERE

Ee== =T
R st 1’52“;“' T 7Bi s
HEIHLA mg/L |<0. 0003[<0. 0003[<0. 0003 [<0. 0003 0.003LAF
2T mg/L <0. 1 <0.1 <0. 1 <0.1 BREINhEWNT &
0 mg/L <0. 001 0. 006] <0.001| <0.001 0.01LLF
AN RA=WN mg/L <0. 005] <0.005] <0.005| <0.005 0.05LLF
i mg/L 0.002( 0.001] <0.001 0.002 0.01LLF
#kER mg/L |<0. 0005/<0. 0005[<0. 0005[<0. 0005 0.0005LLF
T ILEILKER mg/L |<0. 0005/<0. 0005[<0. 0005[<0. 0005 BREIhGEWNT &
PCB mg/L |<0. 0005/<0. 0005[<0. 0005[<0. 0005 BREINhEWNT &
scorooirsay mg/L <0.001] <0.001| <0.001| <0.001 0.02LLF
mig{k kR mg/L [<0. 0002[<0. 0002{<0. 0002{<0. 0002 0.002LLF
1, 2=Y9RpQIT4Y mg/L  [<0. 0004[<0. 0004{<0. 0004|<0. 0004 0.004LLF
1, 1= IFLYy mg/L <0.001] <0.001| <0.001| <0.001 0. TLF
PR—=1, 2=o08IFL>| mg/L | <0.001| <0.001| <0.001| <0.001 0.04LLTF
1, 1, 1—kUsBOpIT42> mg/L <0.001] <0.001| <0.001| <0.001 1T
1, 1, 2—hkUYBOpOITA2> mg/L  [<0. 0006(<0. 0006{<0. 0006{<0. 0006 0.006 LA
rysooTFLY mg/L <0.001] <0.001| <0.001| <0.001 0.03LLF
TS0 FLY mg/L <0.001] <0.001| <0.001| <0.001 0.01LLF
1, 3—4spp7JAaRy mg/L [<0. 0002[<0. 0002{<0. 0002{<0. 0002 0.002LLF
FOS L mg/L |<0. 0006(<0. 0006<0. 0006 {<0. 0006 0.006 LA
Ry mg/L [<0. 0003[<0. 0003{<0. 0003{<0. 0003 0.003LLF
FARUALT mg/L <0.001] <0.001| <0.001| <0.001 0.02LLF
Y2 mg/L <0.001] <0.001| <0.001| <0.001 0.01LLF
LY mg/L <0.001] <0.001| <0.001| <0.001 0.01LLF
WRUEERERUCERSMEER | nel | .05 20 21 L6 1050
A0FE mg/L 0.15 0.08] <0.08] <0.08 0.8LLF
F5% mg/L <0.1 <0.1 <0. 1 <0.1 1T
1, 4—SF%Hy mg/L <0. 005] <0. 005 <0.005[ <0.005 0.05LLF




T2 FEAHAKEFKERERER
(2) HEBREORLICHETIRBEEES
7

- - BODy | s | SSws | TNows | TPos | T2 D0, ABEEY|
HE t IIIJ_:I—\ ;,I H %2 %3 X4 X5 %6 X7 %8
KA |WEBEE|AEA[ of (mg/L) | (mg/L) | (mg/L) | (mg/L) | (mg/L) | (mg/L) (mg/L) __ |(MPN/100mL)
68| 80| 48] — | — - — 8.4 14,000
_ 8A| 13| 57| — 2] — - - 2.3 | 330,000
S = A Y 5| — - - 71 13,000
28] 73| 13| — 2] = - - 2.7 35000
68| 75| 31| — T = - - 18] 79 000
e 8A| 75| 38| — 3| — - - 3.7 |1, 400, 000
RRBRAKE BFE 575 5.4 = 0] — - - 5.4 70,000
28] 75| 69| — 0] — - - 6.4 | 130,000
68| 7.8| 36| — T = - - 6.0 | 49,000
am 8A| 80| 29| — 85| — - - 5.8 70,000
= Al 19| 43| — 5| — - - 5.8 | 24000
28] 79| 52| — 2 = - - 6.7 | 22000
68| 77| 28 a | = - - 75| 13,000
" 8H] 78] 20 a 6| — - - 6.9 17,000
, ,
B — AT 30 [ 1.7 3 " = - — 9.4 2,200
28] 81| 28 3 7T = — — 1.2 2. 800
% y
el 68| 1.7 2.1 15 0] — - - 7.7 | 11,000
- 8A] 80| 14 Al 32| = - - 7.9 | 130,000
| ,
AWK T3 56 [ 20 1 = - - 13.6 7,900
28] 82| 28 1 6| — - - 7.7 3. 300
6A] 79| 47| — W = — 0005 8.0 | 17,000
8A] 77| 23| = 0] — — [ 0.004 2.2 | 79,000
#l FNXE —7B5T 30 T3] = 5 — — [ 0.005 7.5 7,900
28] 79| 29| = | — — [ 0.005 6.8 2,200
68| 76| 36| — N = - — 6.7 | 49,000
- 8A| 7.4 14| — 3 = - - 6.6 |1, 700, 000
FREB R 7 [ T = = - - 9.2 7,900
- 28] 78| 43| = = - - 1.3 | 13,000
BE:a Il
6A] 76| 31| = = - - 27| 33,000
8A] 75| 13| — 6| — - - 4.9 |3.500,000
= ’ ’
BB —H 50| 25 = 5 — - - 7.5 2. 200
28] 8.7 | 44| — 6| — - - 16.3 7,000
68| 7.7 22| — 5 — - - 77 4,900
- 8A| 72| 21| — 2B — - - 6.8 |5, 400, 000
" A 7.8 10] — i = - - 1.7 2,900
. 28] 7.7 12| — 7 — - - 7.4 1.100
= 6 A 7.8 1.7 — 7 — — — 9.1 9, 400
" 8A| 72| 19| — %] — - - 5.8 |9, 200, 000
B8 TR 7T 00 [ = 5| — - - 7.1 7,000
28] 7.7 1.4 — 7 — - - 17.0 1.300
6| 7.2 10 Al 2| — - - 3.1 | 790,000
- 8A| 7.2 | 32 4 16| — - - 9.0 |1,700, 000
= A 7.4 1.5 4 T = - - 6.0 3. 300
e 28] 75| 1.9 4 7 — - - 8.9 240
el 68| 79| 32| — 13 — - - 82| 13000
8A| 7.8 15| — 13 — - — 5.6 | 790,000
T 18] 8.1 10| — 3 — - — 12.4 | 49,000
28] 79| 15| — 7 — - — 13.3 2, 600
68| 7.8| 23 4 5| — - - 8.2 24000
, 8A|  7.7| 409 34 0] — - - 6.5 13,000
AR e 6.4 < 9| — — - 7.8 | 130,000
28] 7.7| 3.4 34 5| — - - 6.0 | 22,000
Kl 68| 7.8 | 3.7 5 8| — - - 7.3 | 70,000
8H| 7.8| 45 4 B3 — - - 5.7 | 33,000
AEN® —ET 70 73 4 6| — - — 75 | 33,000
28] 79| 28 4 0] — - - 85 1.100
68| 7.8| 35| — 0] — - - 73 2,900
8A| 81| 29| — 1| = - - 10.2 2. 800
MR a5 51 17 = 3| = - - 9.8 3. 300
28] 79| 20| — i = - — 7.9 2,900
AN 6H] 79| 40| — v — - - 73 7,900
N 8A| 78| 18] — 6| — - — 5.8 11,000
RE® /30 17 = 5 — - — 7.3 | 33,000
28] 80| 28] — T - - 8.2 | 11,000
EAE 8.9 10 Al 33 ] - — 1 0005 18 9, 200, 000
BNE 72| 09| — 7 — — [ 0004 8 240




SN2 EEAHRAKEEKERNEHER

14 i3
COD.:.g n—H.;.3 SS.:.4 T_N.:.5 T_P.:.G T_Zn.:.7 DO.:.g j{ﬂ%%ﬁﬂ
K& |SEAS|AEA| pH = a a a = a =
(mg/L) | (mg/L) | (mg/L) | (mg/L) | (mg/L) | (mg/L) (mg/L) (MPN/100mL)
6H 8.3 14 - 19 1.0 0.10 — 16.3 240
8H 7.1 1 - 12 1.5 0.15 — 4.9 220, 000
sthim ] m!
1A 7.3 5.8 - 6 2.1 0.098 — 6.2 4,900
2H 7.5 8.1 - 10 3.7 0.17 — 7.6 1,100
6H 8.3 8.1 = 14 1.8 | 0.074 = 13.4 490
8H 9.2 31 = 68 2.6 0.20 = 12.1 4,900
E/ 07 o
1A 8.2 18 = 25 1.6 0.12 = 9.1 330
2H 8.2 17 = 19 1.2 0.12 = 11.1 49
6H 8.0 12 - 24 2.1 0.16 — 11.0 2,200
8H 9.3 57 - 85 4.1 0.72 — 16.7 6, 300
T3 s i m!
1A 9.2 29 - 12 1.9 0.25 — 26.5 790
2R 1.7 9.3 - 9 2.9 0.14 — 5.9 170
6H 7.9 8.5 = 17 2.2 0.19 = 10. 6 33, 000
8H 7.3 6.0 = 9 2.2 0.11 = 4.1 |1,100, 000
RIFB B O
1A 7.6 6.1 = 27 3.0 0.17 = 1.4 13, 000
2H 1.5 9.2 = 18 3.2 0.19 = 7.0 79, 000
6H 10.0 68 - 88 1.4 0.15 — 14.9 4
8H 9.6 27 - 24 1.1 0.099 — 10.9 17
FXRith B0
1A 9.9 26 - 26 1.2 0.11 - 11.8 23
2R 9.2 21 - 31 1.7 0.21 - 15.3 17
RKAIE 10.0 68 = 88 4.1 0.72 0.00 27 |1, 100, 000
=/IME 1.1 5.8 = 6 1.0 0.07 0.00 4.1 4
%1 pH - KEMVEE
%2 BOD -+ £¥MLEMBREREE
3 n-H - A HEEYME S
X4 SS - FEME=E
X5 T-N - RERSEHE
X6 T-P - BRYASEHE
%7 T-In--2ENEHE
%8 DO - ATHMFREFRE

%9 COD --- {LEMEBERERRE



